3.  Alcoa acquired a patent on the extraction of alumina from bauxite ore around the turn of the century.  Through clever use of hydroelectric power contracts and control of bauxite, Alcoa remained the only US producer of virgin ingots into the 1930s.  They were accused of illegal monopolization.

    The Court found that of the entire use of aluminum ingots (standardized to 100 units), Alcoa produced and/or sold 63, of that, 46 were used in Alcoa's own fabrication.  An additional 28 units were supplied by aluminum recyclers and 9 units were imported from Europe.

    The Department of Justice argued that Alcoa had 63 percent of the market.  Alcoa argued that the "aluminum market" should exclude the 46 units used but not marketed by Alcoa and therefore that the correct market share was about 33 percent (17/54).  Finally the judge suggested that the recycled aluminum was originally controlled by Alcoa and therefore should be attributed to Alcoa with a resulting share of 90%+.

    The judge (Learned Hand) went on to propose a “monopoly standard” in which a 33 percent share is presumably not monopoly, while 90 percent certainly is (with 63 percent being a questionable range).

    a.  How would you assess what market share yields significant market power?  Define market power.

    b.  Evaluate the proper market share in this case (33, 63 or 90) being sure to specify exactly what facts you would need in deciding.  

